S1 Fig - Power calculations for Mendelian randomization analyses on lung cancer using
genetic instruments accounting for different proportion of phenotypic variance (15.0,
10.0, 5.0, 2.5, and 1.0%).
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C- Lung squamous cell carcinoma D- Lung small cell carcinoma
100 — — 100 — —
r %
% Variance
= 60 = 60~ 15.0
% ? 10.0
g g — 50
H H
€ € —2s
10
20 20-
// ,/,//
|;)0 |I25 1.50 zbo 1‘00 1‘25 '50 22]0
Odds ratio per unit increase in risk factor Odds ratio per unit increase in risk factor
E- Lung cancer overall; never smokers F- Lung cancer overall; ever smokers
100+ = — — 100+ = o e
/
/
/
P % Variance
s %1 — 60~ 150
S Vs 2 100
g g S
& H
40- // T 4o 25
/ 10
20- 20
1.00 125 150 175 200 160 ; 550

Py o 0 175
Odds ratio per unit increase in risk factor Odds ratio per unit increase in risk factor



